CAPACITOR =
A coecior

Capacitor is a passive device of the circuit which
stores electrical energy or charge. It is also known
as condenser.

Capacitance is measured in Farad (F)
Q = Charge A = Area
V = Voltage d = Diameter
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@ The Voltage across each capacitor is the

equal to the magnitude of the charge, which same,and it is equal to the voltage of the
comes from the battery.. battery.

Q=qi=q2=qs V=Vi=Va=V;

@ The sum of voltage across the individual @ The sum of the charge stored on an individual
capacitor is equal to the voltage of the battery. capacitor is equal to the magnitude of the

charge, which comes from the battery.
V=Vi+ Va+ V3
Q=aq:1+qz2+qs
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"cZ’E"{*E;*“c; "N Ceq=C1+C2+Cs

@ Equivalent capacitance of the capacitor is @ Equivalent capacitance of the capacitor is always
always less than the smallest value of the greater then the largest value of the capacitance
capacitance of the capacitor in the circuit. of the capacitor in the circuit

@ Charge stored on each capacitor is same and
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CHARGING OF A CAPACITOR
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Where go = maximum final value of

chargeatt=o .
Time t = RC is known as Time Constant. Then, |=0.37 o

If t = RC =T = Time constant

DISCHARGING OF A CAPACITOR
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= AKeo A = Area of Dielectric
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3. Dielectric Placed Vertically 4.Dielectric Placed Horizontally
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5.Dielectric Placed Diagonally 6. Capacitor With 3 Dielectrics
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